R R P kAL 4100522 £ RRY HEN SRR

BF - A
- CELAAL ER5 A 0 £ 004

1 ¢ 4ratb=72 a®+b?=39: Al a*+bi=______ -

2. cdra~brcyt A Flc  a>b>ce F(@a—c)(b—c)e=17 > @& atbtc= °

3 BEZRIVE KT LINA RAEBEF - K72 ARRFE OEF A LA o P 11b

R RGN RIARY a~brord TR A likF o ERatbtc—dhiE a 2

o

|

W LI

r}\

l—\oa\-bl\a

1
3
_—
4
2

T—_— 3
B ) 4o
3 >\/\ 'ﬂ%%flfﬁﬂé" ’ﬁ»s dlef |¢@
173]

AR 1
[l
2 et
I
la 3
B
4
N

o *3-*
.

\u‘-)}%

CEEIRLY S

N—

4. 4ot W#i7 - EB3 &>, ABCD thAB + - # > £ BC =12+ BE=9 >
¥ /CED=90° > B| & = 2} ABCD 1 f# = .

5. 4v+ Bl*7 » LA=/B=,/C=,/D=/E=/,/F=120°> * AB=2- BC =5+
CD =3 $DE + EF thig = o

a 12 e a
6. %73 ZFhRMmABE = WPE
* R a?+a+1 37 77 T a*+al+l

‘a;

s
B = °

7. 4ot B*7 0  AB=AC 'DEZAAB ' »FeLa ACihut E4 + » DF < BC* E g »

Eﬁ:ﬁ’%_EZS‘ﬁ:lﬁﬁwﬁ%: ) b

(@)

8. = AOAB ¢= BE25 O(0,0)~A(14,0)-B(5,12) £ AOABep >R L5 5 o

9. © 4v7 #§2, OABCD 17 BEE 3 O(0,0)~A(1,0)~B(b,2) ~C(c,4)-D(d,3) * d<0<c<1<b -

qf_:E\F/»\EAJn\BC\CDmv‘,ﬂb’GKEFmt‘,ﬂb’:]"»AOAGmmﬁé ° 5
10404 ] » ZBAC=60° AB =12+ % P24 AB + » PDLAC* D 2 » P
* PB=PD > #PB=
A D C




14 - S BB+ 250 $- @ bg $ - HFcm o R A28 XCHbx+c=0ha {348

124c+-®*7 > A~B-~C D E~FA 222 F%  FEhRNLTI6 faMR
IR A rﬁ\iﬁ: ° D
133% a~b & 5 > ¥ b’=4a® a+3b>280 fab ] B L o

143% a~b #8840 100 f#e > ¥ a—b=2 fa’+b’ 18 chik i

15.¢ Jrg P48 A T| 6 B X & chE i o PR B S A E £ 0 R X=

16.4— B FHen L2 v ghk” £ANMR(L0~17 F) AN

S Thad, R 25760 R B ;,:prrgg 4

Cem : =2 67 =36 - 257 —625 - I= 5776 - 1

1840+ ) > FenL =8 25 Z/C=30° % A~C &} > AB* F** A%

¥ BC:L i< » FAABC i =

-~ TR EP (A g54 2104 °)

LZ5t-SL2sst-gA FABED Lo B RIfEARS 13 &L sped s AB o
pﬂo]

[ #3552 RITH > 357 7 TREFERLAPF > T 7 »H’t‘ﬁlﬁﬂf 'R
[c ] 4+ B 0% hE- ARk 1‘%—1(3 O) S RELE=1-
[RiF)] BT 7]n Bifi2ang R L:
(1) OgL3| B & L chjed=1> ¢ ABLF|E R L hjedr=2 -
(2) O~A % BARET S Lk it o
[éii?ﬁé‘.lu—l——maﬁyﬁuf’ nEFAHY -

2. [ #) 4+ ® » AB=DE -~ BC =EF - /BAC=/EDF>90° -
[ 22 ] AABC = ADEF -

X LLED

C

AR 5 5

"R g, - ThTE T

B

AN
N

N\

A B

S~




